Name: _________________________	               Table #: ________Period: ______	Date: ______
3.1B Translating Algebraic Expressions_Classwork 
Objective: apply properties of operations to simplify algebraic expressions; solve real-life problem. 
CC.SS.7.EE.1 and CC.SS.EE.2
DIRECTIONS:  translating each of the following into an expression. 
	
	Algebraic Expression
	Verbal Expression
	Coefficient

	1
	x – 5

	
	

	2
	

	5 more than twice x
	

	3

	5 + 3x
	
	

	4

	
	The difference of -17 and 5 times a number
	

	5

	5x2
	
	

	6

	
	5 less than x
	

	7

	x2 – 2 
	
	

	8

	
	The sum of x and twice y
	

	9

	3 – 5x 
	
	

	10

	
	The product of -5 and x squared
	

	11

	5 + 2x
	
	

	12

	
	3 decreased by the product of 5 and x
	

	13

	5x2 – 2
	
	

	14

	
	The sum of x to the second power and 3 times y
	

	15

	3x2 – y
	
	

	16

	x + 5 
	
	

	17

	
	2 less than x to the second power
	

	18

	x2 + 3y
	
	

	19

	
	The product of 5 and x
	

	20

	
	5 increased by 3 times a number
	

	21

	x + 2y
	
	

	22

	5x
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	The quotient of a number and 5 
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3x - 8 = 10

n + 6 = 5

D

4n = 12

B

7 - k = 15

Z

3x + 8 = 14

verbal exp/equations 1 verbal exp/equations 1 verbal exp/equations 1

8/x c increased by 5 is 15

the quotient of 8 and x c + 5 = 15 n + 4 = 12

X

2n + 2

V

10a

T

verbal exp/equations 1 verbal exp/equations 1 verbal exp/equations 1

2n - 13 x - 15 x subtracted from 15

twice a number minus 13 15 less than x 15 - x

c - 6 = 5

R

8 - 5n

P

2n + 13

N

k - 8 = 3

verbal exp/equations 1 verbal exp/equations 1 verbal exp/equations 1

x - 12 the quotient of a number and 5 12 - x

12 less than x c/5 x subtracted from 12

M

the sum of x and 5

x + 5

K

the product of n and 5

5n

I

verbal exp/equations 1 verbal exp/equations 1 verbal exp/equations 1

2x + 1 = 11 twice a number plus 1 is 11 3n = 9

8 minus the product of 5 and n

three times a number is 9 6 less than a number is 5

the product of 4 and n is 12

the difference of 7 and k is 15

the sum of twice a number and 13

4 more than a number is 12 

3 times x increased by 8 is 14

a number minus 8 is 3

the product of a and 10

8 less than 3 times x is 10

2 more than twice a number

6 more than a number is 5
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		Enter your problems here.  When you do, the cards will automatically change.

		File:		verbal exp/equations 1

		Problem #		Problem		Answer				Card Numbers (Jumble these up so the students don't get use to the placement of the numbers)				Problem #		Edge Problems (leave this blank or put in problems and answers.  They will be on unmatchable sides)		Answer

		1		the sum of x and 5		x + 5				D				18		8 less than 3 times x is 10		3x - 8 = 10

		2		the product of n and 5		5n				B				19		3 times x increased by 8 is 14		3x + 8 = 14

		3		12 less than x		x - 12				Z				20		a number minus 8 is 3		k - 8 = 3

		4		the quotient of a number and 5		c/5				X				21		three times a number is 9		3n = 9

		5		x subtracted from 12		12 - x				V				22		twice a number plus 1 is 11		2x + 1 = 11

		6		8 minus the product of 5 and n		8 - 5n				T				23		6 less than a number is 5		c - 6 = 5

		7		the sum of twice a number and 13		2n + 13				R				24		6 more than a number is 5		n + 6 = 5

		8		twice a number minus 13		2n - 13				P

		9		15 less than x		x - 15				N

		10		x subtracted from 15		15 - x				M

		11		2 more than twice a number		2n + 2				K

		12		the product of a and 10		10a				I

		13		the quotient of 8 and x		8/x

		14		c increased by 5 is 15		c + 5 = 15

		15		4 more than a number is 12		n + 4 = 12

		16		the product of 4 and n is 12		4n = 12

		17		the difference of 7 and k is 15		7 - k = 15

		8 less than 3 times x is 10						the product of 4 and n is 12		3x - 8 = 10		the difference of 7 and k is 15		3 times x increased by 8 is 14

		n + 6 = 5		D		4n = 12				B				7 - k = 15		Z		3x + 8 = 14

				verbal exp/equations 1						verbal exp/equations 1						verbal exp/equations 1

				8/x						c increased by 5 is 15				4 more than a number is 12

		6 more than a number is 5		the quotient of 8 and x				2 more than twice a number		c + 5 = 15				the product of a and 10		n + 4 = 12		a number minus 8 is 3

				X		2n + 2				V		10a				T

				verbal exp/equations 1						verbal exp/equations 1						verbal exp/equations 1

				2n - 13						x - 15						x subtracted from 15

				twice a number minus 13				8 minus the product of 5 and n		15 less than x				the sum of twice a number and 13		15 - x

		c - 6 = 5		R		8 - 5n				P		2n + 13				N		k - 8 = 3

				verbal exp/equations 1						verbal exp/equations 1						verbal exp/equations 1

				x - 12						the quotient of a number and 5						12 - x

		6 less than a number is 5		12 less than x						c/5						x subtracted from 12		three times a number is 9

				M		the sum of x and 5		x + 5		K		the product of n and 5		5n		I

				verbal exp/equations 1						verbal exp/equations 1						verbal exp/equations 1

				2x + 1 = 11						twice a number plus 1 is 11						3n = 9
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